
平方根　1
３年　　組　　番・氏名　　　　　　　　　　　　

⑫  1
3636

⑪ 0.1616

⑩ 8181⑨  2525

⑧  4949⑦ 1

◆次の数を、√を使わないで表せ。

⑥ 
9
6464

⑤ 0.2323

④ 100100100③ 2525

② 1717① 4

◆次の数の平方根を求めよ。

＜　　　年   月   日＞

平方根　2
３年　　組　　番・氏名　　　　　　　　　　　　

⑫ 
9
2525

⑪  0.4949

⑩ 121121121⑨  1616

⑧  3636⑦ 9

◆次の数を、√を使わないで表せ。

⑥ 
5
7

⑤ 0.6464

④ 8181③ 4141

② 3636① 3

◆次の数の平方根を求めよ。

＜　　　年   月   日＞



平方根　3
３年　　組　　番・氏名　　　　　　　　　　　　

⑫  1
8181

⑪ 0.0909

⑩ 6464⑨  1616

⑧  4949⑦ 4

◆次の数を、√を使わないで表せ。

⑥ 
4
4949

⑤ 0.1616

④ 4343③ 3636

② 2121① 9

◆次の数の平方根を求めよ。

＜　　　年   月   日＞

平方根　4
３年　　組　　番・氏名　　　　　　　　　　　　

⑫ 
2525
4949

⑪  0.6464

⑩ 1⑨  2525

⑧  3636⑦ 9

◆次の数を、√を使わないで表せ。

⑥ 
7
1313

⑤ 0.2525

④ 100100100③ 2929

② 1616① 5

◆次の数の平方根を求めよ。

＜　　　年   月   日＞


